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: INSTRUCTIONS :

All questions in the Test are multiple choice questione.

Each question carries one mark, with four alternatives out of which one answer is
_correct.

There will be no negative marking.
Use only BLUE/BLACK Ball Point Pen to darken the appropriate oval.

Mark your response only at the appropriate space against the number corresponding to
the question while answering on the OMR Response Sheet.

Marking more than one response shall be treated as wrong response.

Mark your response by completely darkening the relevant oval. The Mark should be
dark and the ovai should be completely filled.

Use of calculator, Mobile is strictly proh1b1ted and use of these shall lead to
disqualification.

The candidate MUST remove the last Carbon copy (Candidate’s copy) of OMR after
completion of Test.

The question paper will be both in English & Punjabi. In case of any doubt, Enghsh
version will be taken as final.
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1. Which of the following does not take part in the formation of water blooms ?

(a) Nostoc (b) Pinnularia (¢) Anabaena @ Osciilatoria
(a) Nostoc (b) Pinnularia (c) Anabaena (d) Oscillatoria
2. Which of the following does not represent a characteristic of the tundra biome ?’
(a) Permafrost (b) High species diversity
- {¢) Chamaephytes ‘ (d) Polar climate
J5 foftmrt fod faast Zsa w6 & faimz € O & a@er
(a) Permafrost (b) High species diversity
(c) Chamaephytes ' (d) Polar climate
3. Which of the following does not occur in Oriental region ?
(a) Indian porcupine (b) Indian elephant
(c) Zebra (d) One-homed rhinoceros
I3 fofemit o faoar yadt 39 feg &t ufenr Aier -
(a) ot defaguets ®) ot aE
(c) =T | (@ fez-ffia#*s
4. Which of the following does not show social organization?
(a) Termites (b) Housefly (c) = Ants (d) Bees
(a B (b) WIB gt (c) diFmt (@) Hg et
5.  The National Bureau of Fish Genetic Resources (NBFGR) is located in ‘
(a) Lucknow (b) Bhubneswar (c) Barrackpore (d) Trivandrum
NBFGR Afaz &
(2) *uog (b) FBEET © &w @ fyee
6.  Which of the following is called as ‘Kashmir stag’?
(a) Hangul (b) Pigmyhog - (¢) Thamin deer (d) Musk deer
5 fafmft fed amilst fogs 3 _ '
@ I (b) fuandt Jar © whsfiga (@ aAgd i

7. Inafood chain the amount of DDT is increased through the process of
(a) Eutrophication . (b) Remediation (c) = Biomagnification(d) Denitrification
¥y &1 fem S < wsor fam yfafoor s waret it 3

' (a) Eutrophication (b) Remediation (c) Biomagnification(d) Denitrification

8.  One Horned rhinoceros is associated with

(a) Kaziranga National Park (b) Jim Corbett National Park
(¢) Keoladeo National Park (d) Dudhwa National Park
fex-fRa dtd e AT o

(a) SHIIar 3FEH USA (b) AH I AAES U
(c) SNEIFE 3rss usa (d) TUT 3EEB U
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11.

12.

13.

14.

The state mammal of Punjab state is

(a) Musk deer : (b) Black Buck
(c) Hangul (d) Thamin
g 9w e 9 gEut die faos 9

(a) FAZ fHagar (b) % fHaar
(c) IS @ s

The chief merit of Bentham and Hooker’s system of classification is that

(a) It is a natural system of classification of all groups of plants.

(b) A system based on evolutionary concepts.

(c) It is considered to be based on phylogenetic concept.

(d) The descriptions of taxa are based on actual examination of specimens.

Bentham and Hooker’s &t =3a1-3 o feims fog 9 fa

() fEg AR Ufanit ¥ dgy & T991-3 ot geast AT J |
(b) T farev fean fros '3 nrorez @

(c) f&A & phylogenetic fRUI3 '3 niorg3 HignT Her 3

(@) Taxa =" foegz ayfontt & wiFs ved '3 WS 3

One of the best methods for understanding genetic relationships of plants is
(a) Cytotaxonomy 5)) Experimental Taxonomy

(¢) Numerical Taxonomy (d) Chemotaxonomy

Ufemit ¥ genetic A8t § ufdorss @ A3 3 e Sdtar 9 |

(@ Cytotaxonomy . (b) 3WIY nUIS Taxonomy

(c) Ffmi3HA Taxonomy ~ (d) Chemotaxonomy

Carolus Linnaeus is credited with introducing

(a) The concept of inheritance (b) Law of limiting factor

(¢c) Theory of heredity ' (d) Binomial nomenclature ,
Carolus Linnaeus @t y&t 3 f& 8y ufgerz gar@er 3 |
(a) feom © fFOiz &5 (b) FI9 W F A T T AU &%
(©) uUI=sa U3 3% | (d) Binomial nomenclature 5%
Systematics deals with

(a) Identification of organisms

(b) Classification of organism ‘

(c) The kind and diversity of all organisms and the existing relationships amongst themselves
(d) Identiﬁcatiq\n, naming and classification of plants

Systematics €F RaU 0] ' '

(a) organisms T UEE

(b) organisms ©F TII-T3

(c)  FrfanT & faAH w3 wisa :

(d) organisms &t ufgerE, &H S9E i wirurt AT

Which one of the following is the most advanced group of Algae ? .

(a) Cyanophyta (b) Rhodophyta -
(c) Phaeophyta _ (d) Chlorophyta

I fasfumit foF faozr Algae ¥ A8 3 90 3a@iat AHT J

(a) Cyanophyta (b) Rhodophyta

(c) Phaeophyta ' (d) Chlorophyta

\
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15. Origin and evolution of sex in algae is seen in i
(a) Blue green algae (b) Green algae {¢) Red algae (d) .- Brown algae
Algae feg a1 v 7o 3 feam, Mo fopr 3+
(a) 3B ITAlgae (b) TI" Algae (©) &S Algae (d) . I Algae
16. ~ Zygotic meiosis is a characteristics feature of -
: (a) Algae (b) Bryophytes () Pteridophytes (d) Gymnosperms
Zygotic meiosis TaR & feRmsT 3 : | .
(a) Algae (b) Bryophytes (c) Pteridophytes (d) Gymnosperms
17. The only positive evidence about aquatic ancestry of Bryophytes is
(a) Thread like protonema (b) Green colour
(¢) Some forms are still aquatic. (d) Ciliated sperms
Bryophytes €t FH-ferrest w9 83 AerasHa AES 9
(a) U I94T Protonema (b) TIrIa
(c) TS AJTI= aquatic IS ~ (d) Ciliated FoaE -
18. To which group would you assign a plant which produces spores and embryos, but lacks
seeds and vasculature? ,
(a) Algae (b) Fungi (c) Pteridophytes (d) Bryophytes
i U¥" spores n3 embryos UeT I3 UT A feg seeds »13 vasculature < wre 32, 8R 3
(a) Algae (b) Fungi (c) Pteridophytes (d) Bryophytes
19. If the chromosome number in the leaf of Funaria is 20, what will be the chromosome
number in the spores ?
(a8 20 ' (b) 40 (c) 10 dy 5
e Funaria € U3 € JE-H39 ¥id 20 I, 37 spores =" J&-F39 Wit & J2ar
(a 20 (b 40 (cy 10 @ 5
20. The dominant generation in Ptefidophytes is -
(a) . Haploid (b) Gametophytic (c) Diploid (d) Triploid
Pteridophytes feg yu 5 3 S
(a) Haploid (b) Gametophytic (¢) Diploid . (d) Triploid
21. Megasporophyll is the term used in Gymnosperm to denote o
(a) Carpels : (b) Stamens {c) Leaves (d) Female Cone
Gymnosperm fe9 Megasporophyll HSe Tar@z &t Tafanr wier J _
(a) Carpels (b) Stamens (c) Leaves (d) Female Cone
22. At which particular stage of development, the endosperms in Gymnosperms is formed ?
(a) At the time of fertilization (b) Before fertilization . _
(¢) After fertilization , (d) Along with the development of embryo
Gymnosperms <9 endosperms f&H uzm ug gaer 3 _ '
(a) I UGS AIS AN (b) 98 U9s 95 I ufost
(c) d98 UIS IG5 3 g (d) embryo T feH ¥ 5B-7%
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25.

26.

27.

28

29,

Bacteria do not need sunlight to grow because
8;) They prepare their own food without the help of sunlight.
) They are photophobic.

? They lack chlorophyll to synthesize their food.

)  They use other kinds of light to manufacture their food.
%aaaw 3 foam et How & ST adt B e

(a) B9 g & It 3 fasr nivuE s iy 39 T9T 06
() 89 I S ar-ure a9 5

() ©J Uz 37E 58T ®Et Chlorophyll & we Jue I

d) 87 3w a=@z w2t et farH &t JAdt yuier see I8

The conjugation in bacteria was discovered by o
(a) Arber and Smith (b) Lederberg and Tatum

c) Jacob and Monad _ (d) Zinder and Lederberg
%az’l'cﬂw feu At § i 9 \
(a) Arber and Smith '(b) Lederberg and Tatum
(c) Jacob and Monad (d) Zinder and Lederberg

Which one of the amino acid is found only in bacteria and blue green algae ?

(a) Methionine (b) Diamino-pimelic acid
c) Aspartic acid ' _(d) Glutamic acid
Amino Acid feg St »i3 T3 Algae fo8 urfenr wfer &
(a) Methionine (b) Diamino-pimelic acid
(c) Aspartic acid - _ (d) Glutamic acid
.In fungi, the reserve food material is usually stored in the form of
(a) Starch ' (b§ Lipid
(c) Glycogen . (d) Protein
A fg gt 3ns fan gu feu Aefow Aer 3 89 9
(a) Starch (b) Lipid
(¢) Glycogen ‘ (d) Protein
The fungi producing usually 8 spores in a sac like structure belong to
a) Phycomycetes : (b) Ascomycetes
c) Basidiomycetes (d) _ Deuteromytetes
5t wi 39 '3 ¥ sac U 8 spore JeT ar3et 3§ A 9
(a) Phycomycetes &% (b) Ascomycetes T8
(c) Basidiomycetes 5% (d) Deuteromytetes 55
One of the common fungal diseases in man is
(a) Cholera . fb) Plague
() Ringworm - d) Typhoid
a'f!e»r" feg Q% &t ie 3 <o niy fandt 3 ¢
(a) o | () uwBT
(c). WY . - (@) eoeefes
Lichens are the major pollution indicators of '
(@ 80, | (®) NO,
(¢) Mercury X d CO
Lichens YgHE € A8 ¥3 AA3X 35
(@ SO, ® NO,
(c) u&r (d CO
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30. The Lichens that are rock dwellers with xerophytic adaptation are called
(a) Lignicolous (b) Terricolous (c) Saxicolous (d) . Corticolous
Lichens 7 f Xerophytic & niag@s & derst feg foam age 98,80 & foar mter &
(a) Lignicolous (b) Tetricolous (c) Saxicolous (d) 'Corticolous

31. The spike like projections seen on the outer surface of enveloped viruses are alled
(@) Capsomeres ®) Pglomem (¢} Proteomeres (d) Viroids

ge faargntt € wageg a9 miE & foar Afer 3

(a) Capsomeres (b) Peplomeres (¢) Proteomeres (d) Viroids
32.  Which one of the following shows coiled RNA strand and capsomeres ? !

(@) _ Polio virus (b) TMV (¢) Measlesvirus (d) Retrovirus

5 fisfimr fod' fagar @@ RNA strand n13 capsomeres four8er 3 _

(a) USR faerg (b) TMV (c) Measlesf&aE - (d) Retrovirus

33.  When the margins of sepals or petals overlap one another without any particular direction,
the condition is termed as
(a) Vexillary (b) Imbricate R (c) Twisted (d) Valvate X
AIE" sepals 7 petals 2 foo9 fa-gra & faat fom wm fomr @ ¥a 89 96 3t Afeh §
faor ater 3
(a) Vexillary (b) Imbricate {(c) Twisted - (d) Valvate
34. Which one of the following statements is correct ?
(a) The seed in grasses is non-endospermic.
(b) Mango is a parthenocarpic fruit. .
(c) A proteinaceous aleurone layer is present in maize grain,
d A sterile_ pistil is called a staminode.
35 fsfimr fe8” faos aus A 3
(@) wa feg® 9 non-endospermic Jer )
(b) wa &K parthenocarpic 25 3 :
(c) ﬁféf%mﬁﬂpmteinaceousaleumneﬂghﬂﬂ?ﬁiﬂa '
(d) sterile pistil § staminode faar #fer 3

35. Which one of the followir:F anatomical structure will you use to distinguish between the

old piece of dicot stem and a dicot root?
(a) Secondary xylem : - (b) Secondary phloem
(c) Protoxylem (d) Cortical cells

Dicotstemdicotroot%éa%feaﬂaaaaase?gﬁl‘ﬁa%ﬁar—ﬁﬁmmﬁﬁwerqﬁm
F9d! '

(a) Secondary xylem (b) | Secondary phloem
(c) Protoxylem (d) Cortical cells

36. White rust of crucifers is a pseudo-rust because
(a) The disease is not caused by basidiomycetous member,
(b) The colour of the pustule is not red. -
(¢) The disease is seen on crucifers.
(d) The disease is not seen on wheat.

Crucifers ©" AST rust ¥ ot rust I fa@fa :
(@) & T I95 basidiomycetous B I (b) Pustule T J9d1 &S Fat
(©) Crucifers §ug Ja1 Shmr famr 3 (@) I QU Jar &I figer faporr

Paper-11I (Biology) 6 C



37..

38.

39.

40.

41.

42.

43.

The phehomenon of Heterothallism was first discovered in Mucorales by

a) Charles Basse
gc) Blakeslee y $

Gaumann
Alexopoulos

Heterothallism ot yfoos A 3 ufomst Mucorales feg &t argt

(a) Charles Bassey ¥25"
(c) Blakeslee ETd"

®)
(d)

Lateral meristem

)
Primary meristem

d)

8

Gaumann gn7qT
Alexopoulos €nf'J"

Intercalary meristem
Apical meristem

Which one of the following meristem helfg in increasing the girth of the stem?

95 ffumr fF° f103" Meristem, stem € girth TURZE feg Hew a9er 32

(a; Lateral meristem

@

Intercalary meristem

(c) Primary meristem Apical meristem
ization of the stem apex into corpus and tunica is determined mainly by

{a} Planes of cell division ) Regions of meristematic activity

c) Rate of cell %wth _ (d) Rate of shoot tip wth
Corpus "3 tunica 1< stem apex <t HAET iy 39 '3 ufgerat Atet 3 gorrer
(a) FHe-33 et 3fa (b) Meristematic I3 T
(c) FH feam <t w9 (d) Shoot tip fean &t &9
For proper union between stock and scion in the grafting, which one is the first to occur ?

§a) Formation of callus

cy Differentiation of new vascular tissue (d) n
wet fdozr Fg 3 ufast Tuder J 7

£ =

Grafting &9 stock 3 scion TafHmrs Rl

Production of plasmodesmata

Regeneration of cortex and epidermis

(a) Callus & 355 (b) Plasmodesmata 2" 83UTs
(c) &2 vascular feg feo niza (d) Cortex M3 epidermis € UGI-FT39
A narrow layer of thin walled cells found between ‘})hloem/bark and wood of a dicot is called
23‘3 Cork cambium ) ascular cambium :

¢) Endodermis d) Pericycle 3 o
Phloem/bark »i3 &3 ¥ R dicot Tafimms wet we Tt ust Hit <t dea g fxar Aler 9 ¢
ﬁa} Cork cambium (b) Vascular cambium

¢) Endodermis (d) Pericycle
As the tree grows older, which one of the following increases more rapidly in thickness ?
(a; - Heart wood ) Sap wood
g::‘% Phloem 5 d) Cortex .

fae Tou3 o @He Fuet 3, 3o fafimit 45 faozr 3t &% user Jor AleT J
a) Heart wood fb Sap wood
¢) Phiocem d) Cortex

ga) Circadian rhythm

Genetic cloc

In plant leaves, the phenomenon of openini-and closing of stomata is governed by

c) Pressure of gases inside the leaves (d

k
Turgor pressure of guard cell
o o stomia & oz mi3 do o o fafontt Hariss St 7t 3 e
oot ugt

(a) Circadian rhythm (b)

(c) Uf3nr nicadut I o ea®  (d)

Phytochrome is involved in

{a; Phototropism fb;
c) Photoperiodism d

Phytochorme FATH® 3,

Ea; Phototropism %b;
c) Photoperiodism d

7

uRa A% 2 Turgor 98 '6"&5

Photo iration
Geotror;‘:}s,m

Photorespiration
Geotropism

Paper-11 (Biology)
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46.

47.

48.

49,

50,

(@ Zinc

Phosphorus and nitrogen ions generally get depleted in soil because they uspally occur as

(a) Natural ions

(b) Negatively charged ions
(g)) Positively charged ions
(
TACIA M

fsa o wfes ge a5 )
(a) OISt Es o
(b) FAITIHI TIA NTE 95

(c) FAI3HE T NivG & 95
()

Both positively and negatively charged ions but in disproportionate mi:&ture
&rfeedns 2 o i 39 3 it oo 93 A 96 iRE T i 39 '3 89 5

Which one of the following is an essential mineral which is not a constituent of any .
enzyme but stimulates the activity of man()l,; enzymes ?

(@ Zinc
(c) Potassium

)
(d)

Manganese
Magnesium

35 ffimit s firaat wget firmas 3 3 fai & eowonse = aios ot 3 udz wgg AT

enzymes T iStfedt § 3w ager 3 7

(c) Potassium 8;;

In C-4 plants, the Calvin cycle operates in:
(a)  Stroma of bundle sheath chloroplast (b)

(c) _Grana of mesophyll chloroplast (d)'
C-4 Ufenit f29 calvin ¥a9 Aoz Jeor 3 ;

_(a) Stroma of bundle sheath chloroplast (b)

(c)  Grana of mesophyll chloroplast  (d)

The greatest Froducers of organic matter are
(a) Crop plants )

(c) Plants of land area (d)
A3 3 709 Afed uergw @ €3y O ¢

(a) et e R (b)
() IWefowaiR (d)

‘Manganese

Magnesium

Grana of bundle sheath chloroplast
Stroma of mesophyll chloroplast

Grana of bundle sheath chloroplast
Stroma of mesophyll chloroplast

Forests
Phytoplankton of oceans

n

HdI&B
AHEd ¥ Phytoplankton

A bottle filled with previously moistened mustard seeds and water was screw capped
tightly and kept in a comer. It blew up suddenly after about four hours. The phenomenon

involved is known as
(a) Diffusion ' (b)
{c) Osmosis ' (d)

Imbibition

‘Diffusion Pressure Deficit

ez 83 fow ufos 3 ot worz et @ ot w3 ureht 39 X BRE S g w9 R B i
ez 3319 fem v 37 fomor | 379 U2 e oo S35 22 At | fem yfignr & farr mter D

(a) Diffusion
(c) Osmosis

(®)

(d).

Imbibition
Diffusion Pressure Deficit

Which of the following movement is not related to auxin level ?

(a) Bending of shoot towards light

g o (b
() Nyctinastic leaf movements

(d)

Movement of root towards soil ‘
Movement of sunflower head tracking the sun

5 Tafimit fog' faadt yfafont auxin Vg & Hefaz adt 3 9

(@) T T IHG I T
(c) U3 T vels8nrzfs yfanr

®)
CY

Paper-11 (Biology) 8

73 & et o yIifafonr
B9A Wl € T e gan oF 39t ¥ HIe

C



51.

52.

53.

54.

55.

56.

57.

Phototropit and Géotrwic movements are linked to

ga) - Gibberellins Enzymes

¢) Auxins i d) Cytokinins

Phtottorpic "3 Geotropic J9&/3 HEUS J

a) Gibberellins Enzymes

ic} Auxins 8; Cytoylr:ilnins

The first carbon dioxide acceptor in C4 plant is

Ea; Phospho enol pyruvate ; Ribulose 1, 5 — diphosphate
c) _Oxaloacetic acid - (d) Phosphoglyceric acid

C-4 Ufemi feg ufomr arags STonERTEs Yyers 5§93 J 7

a) Phospho enol pyruvate Ribulose 1, 5 — diphosphate
Ec} ~ Oxaloacetic acid % Phosphoglyceric zfcid

The most widely accepted theory of Ascent of Sap in trees is
(a% Capillary action ,

Role of atmospheric pressure
{c Pulsating action of living cells

d) Transpiration pull and cohesion theory of Dixon and Jolly
Sap € 933 & A8 3 T3 Y3 Uiz 9
(a) Capillary action
(b) TI=Is T TR S g
(c) fHE< A=t & aest 93 -
(d) Dixon i3 Jolly ¥ transpiration T5< i3 feats fAO3
The hormone responsible for apical dominance in plants is

a) IAA GA
¢) ABA : d) Florigen
27 ToHG 3 Ufentt 29 apical At Bt THS9 J ¢
(ag 1AA ) GA
(¢) ABA d) Florigen
The photosynthetic pigments found in chloroplasts occur in
ga; Thylakoid membrane £b; Plastoglobules
c) Matrix d) Chloroplast envelope
Chloroplasts 29 U@ A€ @3 photosynthetic pigments wfe3 AR
(a) Thylakoid membrane <9 (b) Plastoglobules f<g

(¢) Matixfeg - (d) Chloroplast envelope feg ..

The dark reactions of photosynthesis occur in -
(a) Granular thylakoid membrane
Stromal lamella membrane
¢) Stroma outside the photosynthetic lamellae
d) Periplastidial space A
Photosynthesis © Hr"él EICGH| wfes e I8
(a) Granular thylakoid membrane
Stromal lamella membrane
¢) Stroma outside the photosynthetic lamellae
(d) Periplastidial space -

Which one of the following technique has helped in the investigation of Calvin cycle ?
: ga; X-Ray Crystallography fb} X-Ray technique
¢)  Radioactive isotope technique ©~  (d) Intermittent light
t fa fxgaT 3T Calvin Cycle € UTH 536 feg Hewad J ?
(a) WAA-Y crystallography (b) WaR-I I8
(¢) Radioactive isotope 3FBIX (d) Intermittent IFAT

9 ' Paper-1I (Biology)
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58. tI‘)uring ;nonsoon, the rice crop of Eastern states of India shows lesser yield due to limiting
actor o
(a) Carbon dioxide (b) Light P
(¢} Temperature .. (d) Water o _
HoHS €976 3793 € YId I feu 53 & orw ule 53 53 I fam o s 35 o
feg far ffa Swe I
(a) IG5 FENIATS (b) IHE
() IuHs (d) wat
59. Ferredoxin is a constituent of
(a) PS-1 (b) PS-2
(c) Hill reaction (d) P-680
Ferredoxin far & gro8 3 :
(a)- PS-1 (b) PS-2 -
() yst ystfgnr . (d) P-680
60. In terrestrial habitats, temperature and rain fall conditions are influenced by
(a) Water transformations (b) Transpiration
(¢) Thermoperiodism (d) Trans ocation
gi3a eAfimit feg a9R™3 3 3T @ T3 yeifes ge On ¢
(a) ™S ITHT TS (b) IFIAH
(¢) Thermoperiodism (@ €9 IuHs feg Aes
61. Bananas can be prevented from over-ripening by
(a) Maintaining them at room temperature
(b) Refrigeration
(¢) Dipping in ascorbic acid solution
(d) Storing at highhtelnperamre
Sfemft § 20 Uz 3 Sfevor 77 Aater I
(a) THI T IUNE I NS &5 (b) 33 feu Aswz 55
(c) - Ascorbic WHS fou 38 5% (@) €9 3Iuns feu Tuz 5%
62. The enzyme that catalyses carbon dioxide fixation in C4 plants is
(a) RuBP carboxylase (b; PEP carboxylase
(¢) _Carbonic anhydrase (d) Carboxy dismutase
C-4 Ufonit {9 98s 3dmramsts =t 73 TuBT T TowHE I
(a) RuBP carboxylase ~ (b) PEP carboxylase
(c) Carbonic anhydrase. (d) Carboxy dismutase
63. Which one of the following is produced during water stress that brings stomatal closure?
(a) Ethylene (b) Abscissic acid
(c) Ferulic acid N (d) Coumarin .
mmmﬁaﬁwﬁmﬁﬁ#%«wﬁ@wﬁﬂﬂzﬁwmf@w@?%
(a) Ethylene _ (b) Abscissic acid
(c) Ferulic acid (d) Coumarin
64. Which one of the following is a C4 plants ?
(a) Papaya (b) Pea
(c) Potato - (d) Maize/Corn
3% fafmit feg” fagar c4 Der | -
(a) w3 (b) HeI
© 3 @ et
Paper-11 (Biology) _ 10
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65.

670

68.

69.

70.

1.

(¢

Maximum solar energy is trapped by

%a; 'Planting trees ?) . Cultivating crops
¢) . Growing algae in tanks d) Growing grasses
EERE L FlEIT-%f At q, o .

(@) U e 5% (b) AW HiNE 5%

(c) 3% feg aet Uer 396 5% (d) urg Gargz 55

If a-tree flowers thrice in a year (Oct., Jan. and July) in Northern India, it is said to be
a) Photo and thermo-insensitive
Photo and thermo-sensitive
c) Photosensitive but thermo-insensitive
d) Thermo-sensitive but photo-insensitive

Wﬁaaﬁﬁaam&aﬁam(maﬁ mﬁn@m@)ﬁaaﬁﬁvm
3 3t feR g faor AleT 9
(a) aﬂﬁ»@m}ﬁqﬁm
() I 2 I yFt AeesHls
(©) mﬁqﬁn@eﬂmmmﬂqﬁm
() qéfn%eaﬁ?s I3 IHAET YT mATSHIS

Which element is located at the center of rphyrin ring in chlorophyll ?
: Eag Calcium - §>0 Magnesium
¢) Potassium Manganese
Chlorophyll feg faga™ uered porphyrin rmg Taed i qier I
(a; Calcium Magnesmm
Potassium (d) Manganese
Which one of the following is wrong in relation to photo-resplratlon ?
Ea It occurs in chloroplast. ) Itoccur in day time onl g
¢) Itis a characteristic of C4 plants. (d) _ It is Characteristics of C3 plants.

SEE TR Frg B 2 Khy feu o fefimit o0 fozr @3 3 ¢
(a) f&d chioroplast ffB ufez g J  (b) feg frge fos A wfes Jar |

(©) feamuﬁnr*@m% @ feoc3 ifont Trdgzd
Photosynthetic Active Radiation (PAR) has the followmg range of wavelengths
(a; 340 - 450 nm gi'r 400 - 700 nm
(c) 500-600nm d) 450-900nm
Photosynthetic T3 fxaz’ (PAR) €t 35 fdit wavelengths T&t 3
%a) 340 - 450 nm Eb; 400 - 700 nm

c) 500-600nm . d) 450-900 nm

Which one of the follo‘wmg will produce andro%emc haploids in anther culture ?
gag Anther wall apetal arer of anther wall

¢) Connective issue Young pollengrains
fosfimit fed* faar anther culture ﬁe‘B androgemc haploids U &9

(_a; Anther wall fb} Tapetal layer of anther wall '
(¢) Connective issue - (d
A population of genetically identical individuals obtained from asexual repmductlon is called
(a) Callus (b) Clone
(©) Deme (d) Aggregate
mm—m%%aﬁﬁmmﬁﬁawmawwﬁ ?
(a) Callus (b) Clone
(¢) Deme (d) Aggregate
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72.

73.

- 4.

75.

76.

71.

In an Angiosperm flower, how many micrdspore mother cells are required to produce 100
pollen%ams S

gi{ 7 8; 100

50 |
*d angjosperm 8% <8 100 U3t i Uer 5/as SEt I3 microspore mother cells 3312 95 7

a) 75 100
gC) 25 ' 8:8 50
Ina %e of apomixis known as adventive embryony, the embryo develops directly from
(a) Nucellus or integuments : ,
gb) Zygote

cg Synergids or antipodals in an embryo sac
ga Accesso%;m})ryo sacs in the ovule _ y .

apomixis TH § adventive embryony T7 Frf&EnT Fer I &g Y 39 ‘I embryo fam

onTaT U Jer 9 : '
(a) Nucellus or integuments
(b) Zygote

(¢) Synergids At antipodals f¥9 f&& embryo sac
(d Ovule f¥3 accessory embryo sacs

Two plants can be conclusively said to belong to the same species if they
a) Have more than 90 % similar genes
)  Look similar and possess identical secondary metabolites
c) Have the same number of chromosomes
(d)__ Can reproduce freely with each other and form seeds

g U2 Yy 39 ‘3 ffx It ot o Aduz K9 7 Aae I 399 ¢

(a) WIT90% 3’ <0 8 1 genes Iz

() I I 5a9 nBzE e wIZ Nifem uwgs fafor =@

() T¥3 & chromosomes J&

(d) &3 grI &% nimve gu feu B3Us a9 AaR I6 S HiF 53T Ao 0% |

The first successful transformation of ’IDNA molecule into a bacterium was carried out by

(a) Nathan, Arber and Smith fb; Watson, Crick and Wilkin
<) Egog and Cohen d) Paul Berg -
DNA % 1€ Sactdbr fou 38ets a9 & A8 3 ufasr Svewr famd dtgr?
Ea; -~ Nathan, Arber and Smith gb Watson, Crick and Wilkins
¢) Boyer and Cohen d) Paul Berg
The mechanism of intake of DNA fragments the surrounding medium by a cell is called
a; Transformation only - ' ; Transduction only
c) Both (a) & (b) ) _(d) Conjugation ' o
Fi5 Eoid DNA Zafmit § nid3-enrid & Hifte It Ihe s & Sadia & forar vt 3
(2) Transformationonly - ~ (b) . Transduction only
(©) T @n3®b) - (d) Conjugation

The most important discover{vﬂlat led to the development of DNA technology was
a) Double helix model of Watson and Crick - ‘ _

Discovery of restriction enzymes

)
¢) Discovery of ligase enzymes
{d% Discovery of plasmid

DNA 39&tel 5% &it31 aret Ag 3° 209 Ho3_uds b :
(a) Watson and Crick @ gdI=' gesfs Hioes

(b) restriction enzymes Tt 41

(c) ligase enzymes € ¥7

(d) plasmid T 57
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78.

79.

80.

81.

82.

Golden rice+isa transgenic crop of the future with the following improved trait:

(a) Insect resistance (b) High protein content

(c) High vitamin A content (d) High lysine content

A5fId © gﬁaﬁﬁauansgemcm%,ﬁaﬁ@ﬁaﬁsmtgagﬁ

(a) oitfanrr 3 daftonz (b) =T Y a3

() TS feenis B ga3 (d) =0T lysine GF3

In order to.obtain virus free plants through tissue culture technique, the best method is
(a) Meristem culture - (b) Protoplast culture '

(¢) Anther culture N (d) Embryo culture

fop Swog oorgr slifnt 3 yars IR o'AE 395 @ Ag 3 T SEET 9

(a) Meristem culture _ (b) Protoplast culture

(c) Anther culture (d) Embryo culture

Which one of the following bacterium is considered as “Nature’s Genetic Engineer” ?
(a) Agrobactrium tumefaciens (b) Agrobactrium radiobacter

(¢) Pseudomonas putida (d) Thermus agquaticus

Io fofimi B35 faoat geadt firsrt féivig Bade Mifenr ater 3

(a) Agrobactrium tumefaciens ~ (b) Agrobacirium radiobacter -

(¢) Pseudomonas putida ~ (d) Thermus aquaticus

The technique of DNA. fingerprinting was perfected by

(a) Stahl (b) ' Beadle and Tatum

(c) Franklin (d) Alec Jeffreys

DNA & Hifsx ufgors THs odé ot 3981 § faar Ater 3 ¢

(a) Stahl (b) Beadle and Tatum

(c) Franklin (d) Alec Jeffreys '

Which one of the following hormone pair is required for a callus to differentiate ?
(a) Auxin and Cytokinin (b) Auxin and Ethylene

(c) Auxin and Abscissic acid (d) Cytokinin and Gibberellin

3o fofumit fog* f0=" harmone T callus #i39-fols ot AT Y

() Auxin "3 Cytokinin (b) Auxin ™3 Ethylene

(c) Auxin»i3 Abscissic acid ~ (d) Cytokinin 3 Gibberellin

Any DNA molecule that has the ability to replicate in an appropriate host cell, to which the
desired genes are integrated for cloning, is called

(a) = Plastid (b) Linker
(¢) Vector ' (d) . Phaggmid .
et DNA molecule fiH f9 host:cell 2 #e% & IIF J2, fAR £ cloning FT SF1 genes
(a) Plastid (b) Linker
(c) Vector (d) Phagemid
The most popular and widely used engineered plasmid vector is
(a) pBR322 . (b) pUC vector
{(c) pSC10l (d puUCI9_
A8 3 ¥u HEgY w3 fer3ns feg niBs @5 garfonr Jfenr Vector ;-
(@ pBR322 (b) pUC vector
() pSC 101 (d puc19
| B Paper-1I (Biology)



85. Nomenclature code governs the naming of animals.

@ ICzN

(¢) ICNB d ICTV
ufesra yiu 7aest @ aHaEs & fseurfas aee 75
(a) ICZN ® ICN
(c) ICNB (d ICTV
86. Sea Anemone has a symmetry.
(a) Bilateral . (b) Spherical
(c) Pentamerous _ (d) Radial/Biradial
AHedt et &t . ss39 Y |
(a) St b) FEIT
(c) unfafimt ‘g fsafim @entan (@)
87. Basic unit of eyes in the eyes of insects is
(a) Retina (b) Rhabdome
(c) ~ Corneal facets (d) Ommatidium
13 Enif nhat fog niy & est f‘esrrér 3
(a) ¥ (b) TESH
(¢) TI5MS ASH @ GEEsom
88. Cray fish belongs to ' . '
~ (a) Pisces (b) Arthropoda
(¢) Mollusca (d) Anthozoa
ST AGU Y R
(a) UEiFA &% (b) MTEIUT &S
(c) NGRS 55 @) A& w
89. Mammary glands are modified - , '
(a) Salivary glands (b) Lacrimal glands
(¢) Sweat glands (d) Sebaceous glands
A3 IS guisfas on
@) Ao I®s (b) 3T IS
(c) AIzaW3 (d) FrErivm a@s
90. is a mammal which lays eggs. :
(a2) Scaly anteater - (b) Spiny Anteater
(c) Porcupine (d) Hedge Hog
| 8a Mvm I # i3 fifer D
(a) WA Wéteee () AU srddee
(¢ UTBuets @ I\Ta
91. Heart of crocodiles is |
(a) Three chambered (b) Four chambered.
(c) Two chambered (d) Five chambered
HaeHE & fom 3 |
@ 3-vu ®) w9 IR
(c) ©Iad @ I8 ¥

Paper-1I (Biology)
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92,

93.

94.

95.

96.

97.

98.

Birds are able to recognize their home through

(a) visual cues sense of olfaction
(c) orientation of magnetic fields (d) - All of the above
(a) fomdt onrgr HAZ 55 (b) du/puz & e e
(c) Ul U433 g (d) BuiTz A
Villi are seen in T.S. of :
(a) Stomach S (b) Liver
(c) Pancreas (d) Intestine
fest & . nin, feu fourst féer 3
@ % | ) frem
(c) ues et ) wizH
Ecdysis is the shedding of
- (a) Homs . (b) Stratum corneum

¢) Dermis (d) Stratum germinativuam
gﬂ?}'ﬁm BfSar 3 : -
(@ IIAS (b) ATIH I Tt
(c) SRS (d) AcIeH FOHtSSeH &
Phagocytic cells of liver are '
(a) Kupfer’s cells . (b) Dieter’s cells
(¢) Hensen’s cells (d) Acinercells’
fra 2 edted A& 75
(1) TUSTEAS  (b) 3T NS
(€) IS E S (d) Pelias A®
Oxyntic cells in stomach secrete
(a) Pepsin (b) Mucous
() HCI (d) Renin
Eafiisfea Hs U feu AoRIE o9e 06 :
(a) Turfts | ®) fH8am
() e, A nret (d) IS5
The heart murmur is due to
(a) Coronary thrombosis (b) Defective leaky valve
(c) Arterial valve (d) il developed atrium
few & nirem for aes 3
(a) dSIadt aIHEHR | (b) et S feu saH
(c) MInE TH= (@) S T He feam
In sickle cell anaemia, the disorder is caused due to the change in chemical nature of
(a) a chain of haemoglobin (b) P chain of haemoglobin

¢) Neither of them (d) Both the chains '

frers 71 feg, fearg v 9w fame arfead Agu feo Fe8re Ias TUTe"
(@ deSfis RasH (b) dHaSfEs & p B3 '
(© fogt < a5t @ =T
15 Paper-11 (Biology)




99‘

100,

101.

102.

104.

10S.

Deamination is the process in which

(a) Poisonous urea is removed from blood and it occurs in kidney.
(b) Amino acids are absorbed from digested food and it occurs in 1ntest1nal villi.

R N IFE N

.]g

(c) Amino acids are synthesized and it occur in liver.
(d) Amino acids are broken down to produce ammonia and it occurs in: hver

Fhitdns nifadt yfafowr 3, fAr feg

(a) mﬁ?ﬂﬁﬁmmwﬁn@aﬁﬁamwa

() m@ﬁﬁv%%mw%@m&ﬁﬁemwﬁ |

(c) "5 mfFs § fHaret o3 ater 3 »i3 faae feg wfenr Aier 3

Paper-11 (Biology) 16

mmamwmwmwam@mmmwa

d
Hearing is controlled by

(a) Frontal lobes (b) Temporal lobes

(¢) Parietal lobes (d) Occipital lobes
HazE mast § fsufygs v aer 9 ‘
(a) TIe® B9 Porgr ®b) SUIw B9 onrar
(©) Udtcm Jg onrar (d) narhiies &g gmrar
Which of the following disease results from endocrine disorder ? -
(@) Goiter (b) Pneumonia

) T hoid Jaundice
e faadt st ﬁ? get ?r

(@) Hd I (b) foHSMr
() it gurg (d) Uidhnr
The following are ectodermal derivatives :

(a) liver (b) red blood cells

(c) nalls (d) intestinal lining

fosu niacsHs 3dRfes 0%
(a) g (b) &g KS
© a3 (d) fEsendlam wetfdar
Loss of reproductive capacity in womien after attaining a particular age is
(a) Menstruation (b) Aging
% Menarche (d) Menopause _
%%ﬁamzmw&ammﬂ%wa&wm% :

(a) WiRIUGH (b) T §
(c) Hiegeitaag (d) HTHS UgH v 9T J=r
Failure of testes to descend into scrotum is '
(a) Vasectomy Cryptorchidism

¢) Impotency %) Tubectomy

€ niE%3T T AddeH feg B39 U :

(a) rSeHt . FattucdiasAr
(c) TEHIF (d) feQarxeHt

Secondary sexual characters in females develop in response to hormone

a% Relaxin } Progesterone

ot fog o 5 o
i3t o8 en® Fopns S8 T feam o ards fan aais ags Tuder I
(a) ﬁﬁaﬁa - (b) yarfess
(©) MAEIAG @ uEfs



106.

107.

108.

109.

110.

111.

112,

The term cell was coined by '
(a) Alfonso Corti - (b) Robert Hooke
¢} Robert Brown : (d) Dujardin
AET T nifeRarg 137 9 -
(a) MBedd a9 d (b) JEIE I3
(c) dJuee w9853 (d) garafes 3
The ability of a single cell to divide and produce all of the dxfferentlated oells in an
‘organism is called
(a) Differentiation (b) Totipotency
(¢) Meciosis - Division .
mwwmmﬁﬁm%ﬁaﬁméﬂ?mémﬁmaﬁ
(a) mmf&mz"laaa (b) dHueH
(c) fefar @ fews
Cellulose, the component of cell wall, is made up of which monomer units ?
(@) Xylose : (b) Glucose
¢) Glucuronic acid dl Mannose
TH O W AESA, far HaWT feaet 3 afer &
(a) wEHA (b) TSHaH
© wggdfsa @ Mo
The net gain of how many ATP molecules are there in one cycle of glycolysis ?
(a) 4ATP (b) 2ATP
() 1ATP - (d) 16 ATP
ISEHHAR © fox dag feo 63 ATP Helfa@s e Az dR o5 ?
(a) 4ATP (b) 2 ATP
() 1ATP (d) 16 ATP
Zygotene stage is the part of which phase of cell cycle ?
(a) Prophase-I (b) Metaphase-I
c¢) Interphase. (@ Anaphase-]
dag 2 fan uzm o 97 aEleidts rew O ¢
(@ YW () Herdw
(0 fécw:m (d) weed
bond is present between amino acids.
(a) H (b) Peptide .
(¢} Ionic (d) None of the above
e mfasti e Az ofae ger
() W WS ' ®) WeEs AT .
(c) weilfax &3 . @) feat &9 a &t
When Mandel crossed the pure tall & pure dwatf plant, the phenotypic ratio comes to be
(a)9331' b 1:2:1
(c) d 1:1:1:
ﬂ%mm@%ﬁuﬂémswmwﬁ?ﬁWmi@%
(@ 9:3:3:1 ® 1:2:1
¢ 3:1 (@ 1:1:1:1
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113.

114.

115.

116.

117.

118.

The phase of the cell cycle in which the DNA synthesis occurs :

(a) M-Phase () Gap0

(c) Gapl (d) S-Phase

% Jag v uzmi fan feg St 05 @ Adg aueer 9 ¢

(a) Wu-3A () Juo

() 1 — @ PRI

In double helix model of DNA, the DNA is present in which form ?

(a) B-form (b) Z-form

(¢) A-form (d) None of the above

a”rﬂaééea%%ﬁwwmfea ét%éfﬁnauﬁamhaw%

(a) Hgufe . b Fyufes

) 2qufem (@ fegfeg agt &t |

Species in which both male & female gametes are produced by one individual are

(@) Monoecious (b) Dioecious

(c) Both(a) & (b) (d) Neither (a) nor (b)
-ﬁawmﬁmﬁﬁm%mm@méfwﬁtﬁﬂ#@m

(2) HAHMH | @) sfelimm

(¢ T (d) €T T T & |

When the cross is made between offspring & its parent, it is called as

(a) Back cross (b) Intergeneric cross

(¢) Interspecific cross _ (d) All of the above

e wige 3 fere @3ued feg Jom Tuger 3 3 feR & faar aer 9
(@ oA (b) fEconadfoa sam

(¢) focomurifeoam (d) Gudas A &

The phenotype of an organism is influenced by

(a) Genotype - (b) Environment
.(c) Both(a) & (b) (d) None of the above

fear Aass & ddedh fan 3 yerfes e 9

(@) wacEt x (b) TI=FEE

© (a3 @®)e Tt (@ fogt fed a=t &t |

Gaseous mixture used by Miller for synthesis of amino acids through heat and electric

discharge included

(a) Methane, ammonia, hydrogen and water vapours.

(b) Methane, ammonia, nitrogen and water vapours.

(c) Methane, nitrogen, hydrogen and water vapours.

d) Ammonia, carbon dioxide, nitrogen and water vapours.
%ﬂﬁm%ﬁmwwgﬁmmwﬁm%maﬁﬁmﬁama&

(@) HEs, niHahT, Jréisens 3 uet @ TRy

(b) HEs, s, sdfdHs 3 UE ¥ TEY

(c) W&s, niiat, Ietgas 3 st @ =y

(d) riidhr, E995 ITEMTERTELS, aEidHs M UE T TTHY
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119. Evolutionary changes in one species prompt corresponding changes in other species with
which the former interacts ecologically. This process is known as

(a) Coevolution (b) Complementation
f(;)a Parallel evolution _(d) _Microevolution_
YRt fog feamudt sesmi, griindt ymrdinit fem aeomr § Qfes oo 3 i o
ufas ufonmeass €a1 & Hdg Juer ¥ | fer yfafor § fixar mfer 3:
(8) PH feam | (b) Fafex fean
(¢) RAHgY feam (d) muH feam

120. An example of convergent evolution is :
(a) Marsupial mole and placental moles (b) The flippers in penguins and dolphins
gc_) The wings in birds and insects (d) All of the above _

et fearm ©F @ergaz 9 ¢
(2) HIMs i 3 WBRes HE (b) Darfes n Sufes 2 efeum
(© ﬂélnﬁ»@éﬁ‘anﬁ%&a - d) BuwWem A
121. The cranial capacity of which one of the following prehistoric humans was almost same as
- that of the modern man ? :
(a) Neanderthal man ' (b) Peking man
{c) Java ape man ' (d) Australo pithecus man
yo= fefzama Hdyt feg® fam €t audt mHder wiafss HaY & As uidt & ¢
(a) foEsoEs H3Y (b) tfeiar ARy
(©) < BU HEY - (d) nHcIRRIMEEH HEY
122. The shape of beaks of Darwin’s finches, industrial malanism are examples of
(a) Artificial selection - (b) Natural selection
(c) Convergent evolution (d) Homologous structure
o fozt & g3 v wrard, Botifoe He Afsar/asuz Qeadst 0s:
(@) A9-gest g (b)) eIt v
(c) ot feam @) FEEt FeesT

123. Stabilizing selection favours - ;
(a) Both extreme forms of a trait (b) Intermediate forms of a trait

(¢) Environmental differences (d) One extreme form of a trait
9 RIfE3T &390t 3

(a) BSTLIRYWLEI : () BT T ni3geaSt gy

(c) T3ege fIaz ' (@) 3Bez T fex yosgu

124. What is associated with Neurosis ? :
(a) Itisrelatively mild mental illness. (b) Neither delusions nor hallucinations

¢) Both(a)& (b d) Neither (a) nor
%): h@E® () (a) nor (b)
(a) uJ 37 '3 Iuat Wt favrst (b)) & JBAIdES & & fsfeles
© @3 @ (2 (b) e 5
125. Night-blindness is caused by
(a) Genetic disturbance (b) Excessive drinking
() Excessive secretion'of adrenals  (d) Vitamin A deficiency
nugs T AIE J ,
() ris<Ex feues/feara (b) wifanfax sorsaAt
(c) "5des o J9x farmn @) feefus T dture
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126.

127.

Mental retardation in children suffering from galactoscrma can be avoided by

(a) Giving them milk free diet. -

(b) Giving them more milk.

(¢) Giving them milk fortified with vitamins.
(d) Giving them high protein diet.
IBACHTHOT 3

lﬂagﬁhwfeanmmaﬁwaﬁéf‘awarm%

(@ GstdTusfsyaxed

®) 8§ e a2 3

(c) B @ fecis Aflss du 2 orar
() € 3 wifte Ydts Tt yar 2T g

Paper-II (Biology) | 20

Vitamin containing biochemically rare element cobalt is ‘
(@) Vitamin A () Vitamin B, (c) Vitamin B (d) VitaminB,,
fie-onfeza-us 3 niATdz 33 duse v T feerfis 3 | -
(a feefimA G®) feehs B, (c) feefis B, @ feefis B,,
128. A dental disease characterized by mottling of teeth due to - __ in drinking water :
- {(a) Boron , (b) Flourine ©) Chlorme (d) Mercury
det €3 U T oo U AR €3 391 T aes v UiE I8 u@feaa*haa@?.r:
(a) 95 (b) THIE  (c) TBIS (d) HIaT
129. The causal organism of kalaazar is
(a) Plasmodium (b) Leishmania (c) Trypanosoma (d) Wuchereria
TETI A TSI T IAIE I © -
@ USTAHEMMH (b))  ShERahr © z@uﬁﬁw (@) TSI
130. Severe acute respiratory syndrome is caused by
(a) Corona virus (b) Adeno virus
() Both(a)and (b) (d) None of these
Frg-Afd faanz @ StuE T o aEE Y
(a) ddw femg (b) S ez
© @n3b)T @) feogt e I &t
‘131. Varicella zoster virus causes
- (a) Small-pox (b) Chicken-pox
(©) Mumps (d) Hemorrhagic fever
M AReT ferg & 9 3 | -
(@ T8&@ by = H
(c) 503 | (@) IBTEIHT
~ 132. Micro-organisms which grow best in low pH conditions are called
(a) Alkaliphiles (b) Neutrophiles
(c) Acldophll&s (d) None of these
MM HIow® w fars pH Afust feg 3wt o et 3, § faar At 3 ¢
@ e RS T ®) ﬁs@zaareﬁm
() "RETEsy (@ feqﬂ‘e'v&é’rm'l‘



133.

134.

Plague is ciaused by

- (a) Yersinia pest:s (b) Paramyxo virus.
(¢) Herpes virus (d) Rhino virus
UBdl & A9 O . |
(a) WoRBhr UAfer (b) UITHaR ferg
(c) TIuR femrg , (d) d8 femg
Which organism causes Cysticercosis ?
(a) Echinococcus . (b) Rickettsia provazaki
(¢) Taenia solium (d) Enterobius vermicularis
fag=t Aggsr a9e Cysticercosis I=et O
(a) WoltogH (b) foermr Yyemat

13S.

(c)  3TEr A (d) "eIdnm TRiedfaR

RFLP analysis is a technique that
(a) uses e(i,'bndxzatwn to detect specific DNA restriction fragments in genomic DNA.
is used to determine wheather a gene is transcribed in specific cells.

(c) measures the transfer frequency of genes during conjugation.
(d) isused to detect genetic variation at protein level.

RFLP ferdnz foa 3adla 9 A
(a) TEfgse dEs fedt oo felm DNA ydd § 337 1 Genomic DNA fett feg
dfsz g aer d

() =9 U weE w oW E ferds aeer X ot fenm At g e o o §

136.

137.

gar 3
(c) Tfomrgu mus gnor H{is T JUSTE ©F HIST & ST Barge &t
(d) Y3 Jug '3 Adfex fefdas v uzr warlz &t femdws s9a

The tertiary structure of protein is detected by

(a) X-ray diffraction (b) Spectrophotometry
(c) Electrophoresm (d) Chromatography
qz"r?; @ X-Foger § foam o ugfenr AT 3 9

(a) WIA-I fsa¥ams (b) AUt

() fedaesthn | (d) Rt
Electrocardiogram (ECG) ;. '

(a) Measures electrical activity generated by brain

(b) Recording of the hormonal activity of the heart over time
(c) Recording of the electrical act1v1ty of the heart over time
(d) None of the above

bigz i

(@) forrar gorer §aurfes et fafonmitssT § Hruer

(b) U AN feo fow & gvies fafanmfss & foaras a9
(©) ﬁamﬁgméﬁmmamm
(d) feoer feg a=t &t
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(a) It involves physical breaking of frozen biological samples
(b) Fixation in glutaraldehyde

(c¢) Involves vacuum sublimation of ice

(d) Cryoprotection with glycerol
EOH-29qe9 3XBIA Headt % S{EEST i

(a) ﬁﬂﬁ%ﬁﬁam;rﬁsrm?afs’auua '3 g2z fen few mrfis 3
(b) Glutaraldehyde & fagufaz ags fes

(c) =g =t Aoy AEdiEs fon fog i %f

(d arﬁvsfnaamaaﬂ%@q%m

139. Diapause can occur.at

138. Which of the following is not correct about freeze-fracture technique ? . =,

ga; ml sza§e ) ' Eg; ilr;lpal stage £ dovel ‘
¢) - Neither (a) nor y stage ol deveiopment
3feuw fdg Tuaer 9 ¢ |

(a) rfEfEBETT w3 (b) fuBumios '3

(¢) (ayn3 (b) T &t (d) feamefaAH U3
140. Light energy with wavelengths between 400-760 nm is

(a) Infrared light (b) Ultraviolet light

(c) Visible light (d) None of above

400-760 nm & 3Ja1-Baret few yom G J ¢ ' ,

(a) fomeads yam (b) UT-AIFH fest T yaH

(¢) YSHYIH (d) fegt fes ot &t |
141. Antagonism consists of followmg

(a) Competition (b) Predation

c) Parasitism ‘ (d) All of above

fofaor s o der 3 :
(@) yFTasT ) Susdt
(c) fiie o= (d) Buda3s A9 dt

" 142. Parasitism and Predation both are interspecific relationships, but they differ from each other in
(a) The involvement of two differéent species
(b) The host is not directly killed in one of them
(c) One species is always benefited
(d)  One species is always inhibited
mﬁﬁmﬁ@m—%ﬁmmw@mwmmgmamfﬁ
(a) < 2uTft YAl S AHESS
(b) fegt fed fex fou usE T fiur adt Hifonr wier
() fea yast ohwr &3 feu afdet O '
(@ oyt o s9faz afdst 9

143. The term ‘Biosphere’ was first proposed by

(a) G.E. Hutchinson (b
(¢) Eduard Suess (d)

G
P. S. Welch
Biosphere REE § Ufus! @9 feRaHs &isr
(@) . &, Jefears (b) . 0®. T
(c) WENTS PAR (@ 1t 9. 29
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144,

145.

146.

The underground layers of water-bearing porous rocks are called
(a) Pedosphere (b) Aquifers
(c) Lithosphere (d) None of these
WSt TB HAHErT et S miteed uest § afdR 95 ¢
(a) UBAEmE (b) raEET |
(c) TEFmmE T @) fegtfed ddt sdt
Competitive exclusion principle was given by
(a) G.F. Gause (b) E.P.Odum
(¢) G.Hardin . (d) Lotka and Volterra
- yFeea mssfoedt fhats fégr ; _

(a) . din (b) Ftad.EsH
) #toafss @) B w3 /A
If succession starts on a bare rock, it will be first invaded by
(a) Mosses (b) Lichens
(c) Shrubs ' (d) Herbaceous plants
99 UEg €3 Qun 6t 37 A9 I ufowt 89T T &t g=ar ?
(@) 7R ) @

(9 wEh d) wE-ge

147.

148.

- 149.

150.

Which of the following is not a deep sea adaptation ?
(a) Bullet shaped streamlined body  (b). Dorso-ventrally flattened body

(c) Light organs (d) Ventrally placed, big mouth
fost fog' ot aifos mjee = nieg® &0t &
(a) T 2 HES T AT (b) He# 2 fifs 2 ISt Fuemireg
() Yya\ wia (@) & AfE3 fers e
Which of the following is not an example of a typical lotic habitat ?
ga; gtream _ 8:3 ls?uver
c prin wam
%%a o=t YETHE udt feg foem ﬁ%ﬂ? gerg9z &t 9
(a) -t ,_ ®) &<t
(©) TIT | @ TS
Which of the following do not belong to littoral zone penphyton ?
(a) Pond snail ~ (b) Hydra
" (c) Rotifers (d) Daphnia
I fosfimit fo9° faozr Seeadt 839 &% AU a3 9 ¢
(a) 3TE Uar (b) ud TH Y
) T , (@) 3<Ehr
Which of the following terms is not related to thermal stratification of a lake ?.
(a). Eutrophication (b) Thermocline
(¢}  Epilimnion (d} Hypolimnion
%Wﬁ?ﬁwmmﬁmﬁmmmmﬂ'%
(a) Eutrophication (b) Thermocline
(c) Epilimnion ‘ ,(d) Hypohmmon
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